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Cluster: 0052 mpn; resid: 0.63; r/c: 28/123
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string
operons −200 −100 −1

type I restriction enzyme HsdM: MPN342−0.06
hypothetical protein: MPN388−0.10

50S ribosomal protein L34: MPN682−0.30
hypothetical protein: MPN153−1.44

50S ribosomal protein L11: MPN219−1.44
prolipoprotein diacylglyceryl transferase: MPN224−1.44

30S ribosomal protein S12: MPN225−1.44
hypothetical protein: MPN436−1.55
hypothetical protein: MPN326−1.59

ADP1_MYCPN adhesin P1: MPN141−1.82
hypothetical protein: MPN526−1.91
hypothetical protein: MPN525−1.91

30S ribosomal protein S2: MPN208−2.43
hypothetical protein: MPN213−2.43
hypothetical protein: MPN212−2.43

3'−5' exoribonuclease, RNase R: MPN243−2.44
hypothetical protein: MPN288−2.75
hypothetical protein: MPN359−2.98

50S ribosomal protein L31: MPN360−2.98
30S ribosomal protein S4: MPN446−3.13

hypothetical protein: MPN448−3.13
acyl carrier protein: MPN406−3.14

DNA−directed RNA polymerase subunit delta: MPN024−3.54
fructose−bisphosphate aldolase: MPN025−3.54

X−Pro dipeptidase: MPN470−4.21
50S ribosomal protein L33: MPN471−4.21

hypothetical protein: MPN472−4.21
hypothetical protein: MPN358−4.56

log10(P) upstream meme1 2 log10(P.clust)=−2.40; 28 seqs; 18 uniq
c(0.5, 2.5)
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